Efficiency vs dr

« 0.05

<
9.045
20.04
c
Q
®.035
=
®0.03
0.025F -+
0.02f -
0.015F
0.01f--+{-
0.005--+{-

GI

Ratio

15[+

M~V0001_R000000001__Global

original_RECO
mkFltNewDett RECO

__mkFitNewDett33__RECO

M_VOOOZL _R000000001 Global_mkFltNeWDetNoF_ RECO

1
TP min AR

[ Efficiency vs dr (track,jet) |

§0.01
00.009
=
%).008
9.007
>
#.006
[©]
35=0.005
)
0.004
0.003
0.002
0.001

[y

Efficiency vs pu

1072

1
AR(TP, jét)

-1

5 0.0

a F : :
@0095— ----------------------- . ---------------- , .......
@008:— ----------------------- .- ---------------- .. .......
o o . .
@.007F -+ wbereeeerineens e SRR
= o . .
0.006F -+ rereredeeeee Feeeeee e Feeeeees
0.005f-+++++ieseesdnereees o SRR
0.004f-++++whesee{ednerenes SRR (PSS E ARTIRE
0.003F -+ ederdnenenene R R A SRR
0.002F -+ f {r-deenenen: RN FEC 1 ERPRRRS
L Tl
F -u-'l T "ﬁ
0.001F -+ f +1;++1: F
NS N S 0 1 1
FoRER TSRO S E R EE N SN E T
e b AT |
et §
°867"30 40 50 60 70




	Contents
	Page 1


